## Czechoslovak Mathematical Journal

### Rudolf Oláh

On oscillation of solutions of nonlinear retarded differential equation of Emden-Fowler type

Czechoslovak Mathematical Journal, Vol. 34 (1984), No. 3, 417-423

Persistent URL: http://dml.cz/dmlcz/101967

### Terms of use:

© Institute of Mathematics AS CR, 1984

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

# ON OSCILLATION OF SOLUTIONS OF NONLINEAR RETARDED DIFFERENTIAL EQUATION OF EMDEN-FOWLER TYPE

Rudolf Oláh, Žilina

(Received March 2, 1983)

We want to study the oscillatory behaviour of solutions of the nonlinear retarded differential equation of Emden-Fowler type

(1) 
$$y^{(n)}(t) + p(t) |y(g(t))|^{\gamma} \operatorname{sgn} y(g(t)) = 0, \quad n \ge 2, \quad \gamma \ge 1,$$

where p(t) and g(t) are continuous on  $[0, \infty)$ , p(t) > 0,  $g(t) \le t$ ,  $\lim_{t \to \infty} g(t) = \infty$  and g(t) is nondecreasing on  $[0, \infty)$ .

We restrict our consideration to those solutions y(t) of (1) which exist on some interval  $[T_v, \infty)$  and satisfy

(2) 
$$\sup \{|y(s)| : 0 \le t \le s < \infty\} > 0 \quad \text{for any} \quad t \in [T_v, \infty).$$

A solution y(t) of the equation (1) is called *oscillatory* if it has arbitrarily large zeros, and it is called *nonoscillatory* otherwise.

**Lemma 1** (Kiguradze). Let y(t) be a solution of the equation (1) satisfying the condition

$$y(t) > 0$$
 for  $t \in [0, \infty)$ ,

and

$$y^{(n)}(t) \leq 0 \quad for \quad t \in [0, \infty)$$
.

Then there exist  $t_1 \in [0, \infty)$  and an integer  $l \in \{0, 1, ..., n-1\}$  such that n+l is odd and

(3) 
$$y^{(i)}(t) > 0 \quad \text{for} \quad t \in [t_1, \infty) \quad (i = 0, ..., l - 1),$$
$$(-1)^{i+l} y^{(i)}(t) > 0 \quad \text{for} \quad t \in [t_1, \infty) \quad (i = l, ..., n - 1),$$
$$(4) \quad (t - t_1) |y^{(l-i)}(t)| \le (1 + i) |y^{(l-i-1)}(t)| \quad \text{for} \quad t \in [t_1, \infty)$$

An analogous statement can be made if y(t) < 0 and  $y^{(n)}(t) \ge 0$  for  $t \in [0, \infty)$ .

**Theorem 1.** Suppose that  $\gamma > 1$ , g(t) is nondecreasing and for every  $l \in$ 

 $\in \{1, ..., n-1\}$  such that n+1 is odd the following inequality holds:

(5) 
$$\lim_{t \to \infty} \sup g(t) \int_{t}^{\infty} s^{n-t-1} [g(s)]^{(t-1)\gamma} p(s) ds > 0.$$

Then every solution of the equation (1) is oscillatory provided n is even.

Moreover, let the following condition be fulfilled:

(6) 
$$\int_{-\infty}^{\infty} s^{n-1} p(s) ds = \infty.$$

If n is odd, then every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty} y^{(i)}(t) = 0$ , i = 0, 1, ..., n - 1.

Proof. Let y(t) be a nonoscillatory solution of the equation (1) such that y(g(t)) > 0 for  $t \in [t_0, \infty)$ ,  $t_0 \ge 0$ . Then with regard to Lemma 1 there exist  $t_1 \in [t_0, \infty)$  and  $l \in \{0, 1, ..., n-1\}$  such that n+l is odd and (3), (4) hold.

Let  $l \in \{1, ..., n-1\}$ . For sufficiently large  $t_2 \in [t_1, \infty)$ , in view of (4) we obtain

(7) 
$$y(g(t)) \ge \frac{[g(t) - t_1]^{l-1}}{l!} y^{(l-1)}(g(t)), \ t \ge t_2.$$

From the identity

(8) 
$$z^{(j)}(t) = \sum_{i=j}^{k-1} (-1)^{i-j} \frac{(s-t)^{i-j}}{(i-j)!} z^{(i)}(s) + \frac{(-1)^{k-j}}{(k-j-1)!} \int_{t}^{s} (u-t)^{k-j-1} z^{(k)}(u) du, \quad s \ge t \ge t_{2},$$

where  $1 \le k \le n$ ,  $z \in C_n([0, \infty), R)$ , we obtain for k = n - l + 1, j = 1

(9) 
$$z'(t) = \sum_{i=1}^{n-l} (-1)^{i-1} \frac{(s-t)^{i-1}}{(i-1)!} z^{(i)}(s) + \frac{(-1)^{n-l}}{(n-l-1)!} \int_{t}^{s} (u-t)^{n-l-1} z^{(n-l+1)}(u) du.$$

Choose  $z(t) = y^{(l-1)}(t)$ . Then with regard to (3) we have  $(-1)^{l-1} z^{(i)}(s) > 0$ , i = 1, ..., n-l and from (9) we conclude

$$z'(t) \ge \frac{(-1)^{n-l}}{(n-l-1)!} \int_{-\infty}^{\infty} (u-t)^{n-l-1} z^{(n-l+1)}(u) du.$$

From the last inequality using (7) and the equation (1) we obtain

$$(10) \quad z'(t) \ge \frac{1}{(n-l-1)! (l!)^{\gamma}} \int_{t}^{\infty} (u-t)^{n-l-1} \left[ g(u) - t_1 \right]^{(l-1)\gamma} p(u) \, z^{\gamma}(g(u)) \, \mathrm{d}u \, .$$

We integrate the inequality (10) from T to  $t, t > T \ge t_2$ ,

$$z(t) \ge \frac{1}{(n-l-1)! (l!)^{\gamma}} \int_{t}^{\infty} \left[ g(u) - t_{1} \right]^{(l-1)\gamma} p(u) z^{\gamma}(g(u)) \int_{T}^{t} (u-s)^{n-l-1} ds du ,$$

$$z(t) \ge \frac{1}{(n-l)!(l!)^{\gamma}} (t-T) \int_{t}^{\infty} (u-T)^{n-l-1} \left[ g(u) - t_1 \right]^{(l-1)\gamma} p(u) z^{\gamma} (g(u)) du.$$

Then, for sufficiently large t,

$$(n-l)!(l!)^{\gamma} z(g(t)) \ge [g(t)-T] \int_{t}^{\infty} (u-T)^{n-l-1} [g(u)-T]^{(l-1)\gamma} p(u) z^{\gamma}(g(u)) du.$$

Since z(t) is nondecreasing we have

$$(11) \quad (n-l)! (l!)^{\gamma} \frac{z(g(t))}{z^{\gamma}(g(t))} \ge \left[g(t) - T\right] \int_{t}^{\infty} (u-T)^{n-l-1} \left[g(u) - T\right]^{(l-1)\gamma} p(u) du.$$

If z(t) increases to infinity as  $t \to \infty$ , then (11) yields a contradiction with (5). We recall that the condition (5) implies

(12) 
$$\int_{-\infty}^{\infty} t^{n-l} [g(t)]^{(l-1)\gamma} p(t) dt = \infty.$$

Otherwise, if the integral in (12) converges, then

$$0 < \lim_{t \to \infty} \sup g(t) \int_{t}^{\infty} s^{n-l-1} [g(s)]^{(l-1)\gamma} p(s) ds \le \lim_{t \to \infty} \sup \int_{t}^{\infty} s^{n-l} [g(s)]^{(l-1)\gamma} p(s) ds = 0,$$

which is a contradiction.

The condition (12) implies that z(t) cannot be bounded above by a constant (see Foster and Grimmer [3], Theorem 2).

Let l = 0. From (8) for j = 0, k = n, we obtain

$$y(t) \ge -\frac{1}{(n-1)!} \int_t^{\infty} (u-t)^{n-1} y^{(n)}(u) du, \quad t \ge t_2,$$

and

$$y(t) \ge \frac{1}{(n-1)!} \int_{t}^{\infty} (u-t)^{n-1} p(u) y^{\gamma}(g(u)) du$$
.

If y(t) is bounded below by a positive constant c, then

$$y(T) \ge \frac{c^{\gamma}}{(n-1)!} \int_{T}^{\infty} (u-T)^{n-1} p(u) du, \quad T \ge t_2,$$

which is a contradiction with (6). This completes the proof.

Corollary 1. Let g(t) be nondecreasing and let

(13) 
$$t \leq [g(t)]^{\gamma} \text{ for } t \geq T, \quad T \in [0, \infty), \quad \gamma > 1,$$

and

(14) 
$$\lim_{t \to \infty} \sup g(t) \int_{t}^{\infty} s^{n-2} p(s) ds > 0$$

hold. Then every solution of the equation (1) is oscillatory if n is even, and every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty} y^{(i)}(t) = 0$ , i = 0, 1, ..., n-1 if n is odd.

Proof. In view of (13) the condition (14) implies (5), (6) and we can apply Theorem 1.

Corollary 2. Let g(t) be nondecreasing and let

(15) 
$$t \ge [g(t)]^{\gamma} \quad \text{for} \quad t \ge T, \quad T \in [0, \infty), \quad \gamma > 1.$$

(16) 
$$\lim_{t\to\infty} \sup g(t) \int_t^{\infty} [g(s)]^{(n-2)\gamma} p(s) ds > 0$$

hold. Then every solution of the equation (1) is oscillatory if n is even, and every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty} y^{(i)}(t) = 0$ , i = 0, 1, ..., n-1 if n is odd.

Proof. In view of (15) the condition (16) implies (5), (6) and we can apply Theorem 1.

**Theorem 2.** Suppose that  $\gamma = 1$ , g(t) is nondecreasing and

(17) 
$$\lim_{t \to \infty} \sup g(t) \int_{t}^{\infty} [g(s)]^{n-2} p(s) ds > (n-1)!.$$

Then every solution of the equation (1) is oscillatory if n is even, and every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty} y^{(i)}(t) = 0$ , i = 0, 1, ..., n-1 if n is odd.

Proof is similar to that of Theorem 1. Let  $l \in \{1, ..., n-1\}$ . From (11) we get

$$(n-1)! \ge (n-l)! \ l! \ge [g(t)-T] \int_t^{\infty} (u-T)^{n-l-1} [g(u)-T]^{l-1} p(u) du,$$

and since  $g(t) \le t$  we have a contradiction with (17). Let l = 0. The condition (17) implies (6) and we find that  $\lim_{t \to \infty} y(t) = 0$ . The proof is complete.

If g(t) = t, then (17) implies the result of Čanturia [2, Theorem 2.3].

Example. Consider the retarded differential equation

(18) 
$$y^{(4)}(t) + t^{-10/3} y^3(t^{1/3}) = 0, \quad t > 0.$$

The condition

$$\int_{-\infty}^{\infty} [g(t)]^{n-1} p(t) dt = \infty$$

which guarantees that every solution of the equation (1) is oscillatory is not satisfied for the equation (18). Nevertheless, the conditions (13), (14) or (15), (16) are satisfied. So every solution of the equation (18) is oscillatory.

Now we return to integral sufficient conditions.

Let S denote the set of functions  $\varphi \in C([0, \infty) \times R, R)$  such that for every  $t \in [0, \infty)$  the function  $\varphi(t, \cdot)$  is nondecreasing,

$$\varphi(t, x) x \ge 0$$
 for  $t \in [0, \infty)$ ,  $x \in R$ ,

and the equation

$$x'(t) = -\varphi(t, x(t))$$

has no solution which satisfies (2).

**Lemma 2** [7]. Suppose that  $\varphi \in S$ ,  $c, t_0 \in [0, \infty)$ . Then the inequality

$$|x(t)| \ge c + \int_{t}^{\infty} |\varphi(s, x(s))| ds$$

has in the set  $C([t_0, \infty), R)$  no solution which satisfies the condition

$$x(t) \neq 0$$
 for  $t \in [t_0, \infty)$ .

For a proof see [7, Lemma 1.6].

**Theorem 3.** Suppose that  $\gamma \ge 1$  and that for every  $l \in \{1, ..., n-1\}$  such that n+l is odd and for arbitrarily small  $\varepsilon > 0$  the following identity holds:

(19) 
$$\int_{-\infty}^{\infty} t^{n-l-1} [g(t)]^{(l-1)\gamma+1-\varepsilon} p(t) dt = \infty.$$

Then every solution of the equation (1) is oscillatory if n is even.

If in addition (6) holds, then every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty} y^{(i)}(t) = 0$ , i = 0, 1, ..., n-1 if n is odd.

Proof. Let y(t) be a nonoscillatory solution of the equation (1) such that y(g(t)) > 0 for  $t \in [t_0, \infty)$ ,  $t_0 \ge 0$ . Then with regard to Lemma 1 there exist  $t_1 \in [t_0, \infty)$  and  $l \in \{0, 1, ..., n-1\}$  such that n+l is odd and (3), (4) hold. Let  $l \in \{1, ..., n-1\}$ . Now in the same way as in the proof of Theorem 1 we get

$$z(g(t)) \ge K[g(t) - T] \int_t^{\infty} (u - T)^{n-l-1} [g(u) - T]^{(l-1)\gamma} p(u) z^{\gamma}(g(u)) du$$

 $T > t_1$ , where  $K = 1/(n - l)! (l!)^{\gamma}$ .

The condition (19) implies (12) and the condition (12) implies that z(t) increases to infinity as  $t \to \infty$ . Then for sufficiently large t we have

$$z^{\gamma}(g(t)) \geq K[g(t)-T] \int_{t}^{\infty} (u-T)^{n-l-1} \left[g(u)-T\right]^{(l-1)\gamma} p(u) \left[z(g(u))\right]^{(1-\varepsilon)\gamma} du,$$

where  $0 < \varepsilon < 1$ , and

$$\frac{z^{\gamma}(g(t))}{g(t)-T} \ge K \int_t^{\infty} (u-T)^{n-l-1} \left[g(u)-T\right]^{(l-1)\gamma+1-\varepsilon} p(u) \left[\frac{z^{\gamma}(g(u))}{g(u)-T}\right]^{1-\varepsilon} du.$$

Choose  $x(t) = z^{\gamma}(g(u))/(g(u) - T)$ . So x(t) is a solution of the above inequality and with regard to Lemma 2,  $\varphi \notin S$  where

$$\varphi(t, x(t)) = K(t - T)^{n-l-1} [g(t) - T]^{(l-1)\gamma + 1 - \varepsilon} p(t) |x(t)|^{1-\varepsilon} \operatorname{sgn} x(t),$$

and the equation

$$(20) x'(t) = -\varphi(t, x(t))$$

has a solution x(t) which satisfies (2). From the equation (20) we have

$$K \int_{t_2}^{t_3} (t-T)^{n-l-1} \left[ g(t) - T \right]^{(l-1)\gamma+1-\varepsilon} p(t) dt = \int_{x(t_3)}^{x(t_2)} \frac{1}{v^{1-\varepsilon}} dv, \quad t_3 > t_2 \ge T,$$

and as  $t_3 \to \infty$  we get a contradiction with (19).

Let l=0. In the same way as in the proof of Theorem 1 we find that  $\lim_{t\to\infty} y(t)=0$ . This proves the theorem.

Corollary 3. Suppose  $\gamma \geq 1$ . Let

(21) 
$$\lim_{t\to\infty}\inf\frac{t}{g^{\gamma}(t)}>0,$$

(22) 
$$\int_{-\infty}^{\infty} [g(t)]^{(n-2)\gamma+1-\varepsilon} p(t) dt = \infty, \quad \varepsilon > 0$$

hold. Then every solution of the equation (1) is oscillatory if n is even, and every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty} y^{(i)}(t) = 0$ , i = 0, 1, ..., n-1 if n is odd.

Proof. With regard to (21) the condition (22) implies (19), (6) and we can apply Theorem 3.

Corollary 4. Suppose  $\gamma \geq 1$ . Let

(23) 
$$\lim_{t \to \infty} \inf \frac{g^{y}(t)}{t} > 0,$$

(24) 
$$\int_{-\infty}^{\infty} t^{n-2} [g(t)]^{1-\varepsilon} p(t) dt = \infty, \quad \varepsilon > 0$$

hold. Then every solution of the equation (1) is oscillatory if n is even, and every solution of the equation (1) is either oscillatory or  $\lim_{t\to\infty}y^{(i)}(t)=0$ , i=0,1,...,n-1 if n is odd.

Proof. With regard to (23) the condition (24) implies (19), (6) and we can apply Theorem 3.

#### References

- [1] T. A. Canturia: Some notes on oscillation of solutions of differential equations with retarded argument (Russian), Differencialnye Uravnenija, 16, No 2, (1980), 264-272.
- [2] T. A. Canturia: Integral conditions of oscillation of solutions of higher-order linear differential equations (Russian), Differencialnye Uravnenija, 16, No 3, (1980), 470—482.
- [3] K. E. Foster, R. C. Grimmer: Nonoscillatory solutions of higher order delay equations, J. Math. Amal. Appl., 77, No.1, (1980), 150-164.
- [4] *I. T. Kirguradze:* On oscillation of solutions of some ordinary differential equations (Russian), Dokl. Akad. Nauk SSSR, *144*, No 1, (1962), 33–36.
- [5] I. T. Kiguradze: The problem of oscillation of solutions of nonlinear differential equations (Russian), Differencialnye Uravnenija, I, No 8, (1965), 995—1006.
- [6] I. T. Kiguradze: On the oscillatory and monotone solutions of ordinary differential equations, Arch. Math., XIV, No 1, (1978), 21–44.
- [7] R. G. Koplatadze, T. A. Čanturia: On oscillatory solutions of functional-differential equations (Russian), Tbilisi, Tbilisi Univ. Press, 1977.
- [8] P. Marušiak: On oscillation of solutions of n-th order differential equations with retarded argument (Russian), Differencialnye Uravnenija, 14, No 7, (1978), 1186—1191.

Author's address: 010 88 Žilina, Marxa-Engelsa 25, ČSSR (Vysoká škola dopravy a spojov).